A= Jerma SA HIADIE D
M 0 Hesd Hat
ChSl: RBAI B HIACHHIENA el (el a2
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Hlat 1= 1,398,313 1,269,754 128,559
= 421,269
E 18,000
= 959,044
O HSsE 23t 902,726 578,188 324,538
= 421,269
E 18,000
= 463,457
SEAl 255 HIATHHIEIA 2t 114,333 91,733 22,600
= 7,700
= 106,633
Hlaftidl &S =& 28,043 26,943 1,100
201 get2a| 25,493 24,393 1,100
01 At2teltl 14,150 14,250 A100
OsXdg Al 11,750
OSEYAE e =23 2,400
02 s3=3H| 11,343 10,143 1,200
OeMs dEEHE SFALE 22 10,143
O=IHIESAE 0|88 =2)| 282 1,200
202 O 2,550 2,550
01 20| 2,550 2,550
Odl&itl ge=d 2,550
oelz 54 Xd 78,590 53,590 25,000
201 Ler=a| 5,550 2,400 3,150
03 A= I 5,550 2,400 3,180
oolglzal & JIg& AL JH=| 2,400
oZgutlZ ¥3s =d 3,150
202 O 1,190 1,190
01 204 1,190 1,190
o2 g8 1,190
301 LetEd =S 5,850 0 5,850
11 dAHBIXIE S 5,850 0 5,850
oZgoblz2 /I3E FAA A2 5,850
403 AXIEMSA=201H 66,000 50,000 16,000
01 MXIHHAZE X 66,000 50,000 16,000
ouHI=t gf=Xt X 66,000
S22 (21) 7,700 11,200 A3,500
= 7,700
301 LetENS 7,700 11,200 A3,500
= 7,700
14 JIEt2d = 7,700 11,200 A3,500
OsAXAZel 7,700

- 265 -




o
il
F
0l

8 =
) % glel= |glg |° o
n0 = oi Sl o 4
El & & 2 3 3 S
— N Q ~ & »
o N
T
= m m g 8|8 3 S
war | | ¥ S IS S ) P S g 5 3 -
uid © < > 3 3 = <
= Te} 5,
S8 88 &
RIS 8 8 & 818
Nlg o e elels m m S8 8|18 8 8|8
SeRes) Te) | Qe ® 8 818
= % SV QVARNQV (ool [ R N ® S 8 8l.
3 N 33614&1,20082%%&&%&11 3
2 466n4nwmmwmmwmqﬁumm&mm&2 ==
= - 5zwwmmmwzmwmmwwm
A e
nl <4
W r
o L | U
r U
Ho _._._. _|_._ :._\ _:_._ :._. _|_._
B W
oD
=
I
< F)
. - B o]
— 160 o
= =4 % =
_ _ — - T
%\ o f d 7 a a i
i — . RT or = )
u 2 al KO 7= - R0 o
|| P2 | EE ¥ = i 5 .
IKI — —|D|D OF 0 = = a . i :: ol
R0 o) = |30 |50 0 _ |y = _ 2 . i T - el
) =l 2| |3 ﬁ_ 0 > o y 0o 0 " i il
* - T Al B = = oF | 30 B0 W ulo 7 — = oy
z [ | S E E ) g 0 o o i = e o 0 w )
iy NEIERS S I ol = ® 0 0 5o lx = 0
= F | = |x™ @ il o i - 0J Ok 00 = &
. Tisls 9yl OlF ° B < £ R = % z ) =
T o0 | & g1 % 5 O = R o) U o
12 a) 50 2 3 o = K o K = ol
<N < 5 o o K ) S =4 g2
ol 50 =] b= 0 o =M
i

- 266 -



AR TorEa SN HIADIE D
ma: 2| (253 2st
SH9l A% HSche IRl 2 (crel )
A2 - I O9l(8) - MRAY - BES Ofl v i HDS2
SISOy SHYEHS BS0l 23 13,860 13,860
403 XHXI EHHI S =01 & 13,860 13,860
B =TS 13,860 13,860
OBl SHUYE YSB B3 13,860
BFNS FOIUIAL 25(2D) 416,000 0 416,000
2 320,000
= 9,000
403 XHXI EHHI S RH=0IH 416,000 0 416,000
2 320,000
= 9,000
Of IXESH =2 T 416,000 0 416,000
B FOIODAL &5 416,000
2 320,000
= 9,000
AN FOIUDAL &5 18,000 35,000 A17,000
N 18,000
308 XXIEHHISOIH 18,000 35,000 A17,000
A 18,000
O IXEHZ A2 ES 18,000 35,000 A17,000
BT FOIODAIL 22l - 26| X2 18,000
A 18,000
oIel HIAZAIE 2E(2D) 3,150 0 33, 150
2 19,500
= 13,650
403 XHXI EHHI S TH=01H 3, 150 0 3, 150
2 19,500
= 13,650
O IXSHA =2 33,150 0 33,150
OBIYT HINZHAL =5 33, 150
2 19,500
= 13,650
A HSEHH 23 181, 180 78,700 102,480
201 2er2H] 78,680 71,900 6.780
01 AfR 22l 5,200 5,200 0
ORIYFIYBAIAY B 7Y 5,200
02 ZZ2H| 73,480 66,700 6,780
ORIYIFBAAY 2RI 73,480
202 01H| 6,000 6,800 800
o1 =LHoib 6,000 6,800 800
OFLEHA YPET 6,000
405 XHAHF St 9,500 0 9,500
01 MAt LS B St 9,500 0 9,500
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